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LIC AAO 2016 Mock Test Paper - 3
 

 

ENGLISH LANGUAGE 

 

 Directions (1-10) : Read the following passage 
carefully and answer the questions given below it. 
Certain words are printed in bold to help you locate 
them while answering some of the questions. 

  The recently released census data on India’s 
youth unemployment has only confirmed what some 
experts have been cautioning about. Nearly one in 
every four or 24% of those between 20 and 24 years 
of age are looking for jobs. Given the size of India’s 
population, this translates into millions of youth who 
join the army of job hopefuls every year. This raises 
some serious questions. How many workers will 
industry and services have to absorb in the next 
decade? How many will they absorb if they continue 
creating jobs as they have in the past? How many of 
the job seekers have the required skills or 
‘employability’? These are concerns that India cannot 
afford to gloss over any longer. 

  In many ways, India presents a policy makers’ 
paradox. At $2.1 trillion, India is among the world’s 
top 10 economies in terms of size of GDP. Yet, by 
most estimates, India is home to the world’s largest 
number of extremely poor and impoverished 
people. This is one challenge that policymakers have 
been grappling to conquer over decades. This is also 
the primary reason why policy making over the years 
has tended towards inclusion rather than outright 
GDP expansion. This trade-off — between growth and 
inclusion — has undergone a rapid qualitative 
transformation over the last few years. Currently, the 
focus is on how to accelerate inclusion and growth 
together. 

  Poverty and lack of jobs have an axiomatic 
relationship. Reaching out to backward areas is no 
longer just a question of throwing food and money at 
them. There can be no argument over the fact that a 
productive job is the best form of inclusion. 
Handouts have a static characteristic and, therefore, 
cannot match the pace of people’s aspirations. The 
approach to inclusion must shift from handouts to 
more rapid growth of productive enterprises and 

jobs. The census data on employment reinforces this. 
India’s young demographic is a well-documented 
global story. But, there is much more to the human 
capital of a country than a headcount of the 
workforce. It is also about quality and casting the net 
wide to make the labour market more gender-
equitable. It is not just for the economic benefit that 
India must skill its young population; it must do so 
for social reasons. While industry is creating jobs, too 
many of such jobs are informal. On the other hand, 
employment growth in services hasn’t quite kept 
pace. The challenge is to create the conditions for 
faster growth of productive jobs outside of 
agriculture. Otherwise, the risk of India’s 
demographic dividend turning into a demographic 
curse could become too difficult to address later. 

1. India is a growing country but it is continuously 
facing a major problem  

 (a) of increase in India’s population raise many 
 questions for job seekers 

 (b) of growing population in every decade  
 (c) of millions of youth are joining Army 
 (d) of unemployment 
 (e) none of them 
2. Over the decades, policymakers has tended towards 
 (a) GDP development 
 (b) inclusion rather than outright GDP development   
 (c) inclusion and GDP expansion 
 (d) both a and b 
 (e) none of them 
3. India’s development depends on many issues, what 

India has to be changed for growth and development 
of people? 

 (a) to reduce poverty and improve job’s 
 opportunities for youth 

 (b) to reduce population and encourage youth  
 (c) look over the expansion of GDP 
 (d) only productive jobs is the key of development 
 (e) none of them 

  This Mock Test consists of 160 questions which are spread across 5 sections – English Language, Quantitative 
Aptitude, Reasoning Ability, Computer and G.K. & Current Affairs The mock test carries 300 marks and of 2 hours 
duration. There is negative marking of 1/4 marks for each wrong answer and English is Qualifying Nature. 
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4. If India doesn’t look for the opportunities beyond the 
agriculture field, what will happen to the country’s 
economy?  

 (a) the India’s economy will be not able to grow fast  
 (b) it will difficult to look over the best opportunities 

 for jobs 
 (c) it will directly affect the backward areas 
 (d) both a and b 
 (e) none of them 
 Directions : (5-7) Choose the word which is Similar 

in meaning to the word printed in bold as used in the 
passage. 

5. Impoverished 
 (a) Affluent (b) Wealthy 
 (c) Prosperous (d) Poor 
 (e) none of them 
6. Grappling 
 (a) Release  (b) Flourish 
 (c) Conflict (d) Grow 
 (e) None of them 
7. Axiomatic 
 (a) Disputable (b) Problematic 
 (c) Uncertain (d) Clear 
 (e)  Questionable 
 Directions : (8-10) Choose the word which is 

Opposite in meaning to the word printed in bold as 
used in the passage. 

8. Argument 
 (a) Conformity (b) Dispute 
 (c) Quarrel (d) Contention 
 (e) Conflict 
9. Inclusion 
 (a)  Incorporation (b)  Involvement 
 (c)  Composition (d)  Addition 
 (e)  Exclusion 
10. Productive 
 (a) Profitable (b) Creative 
 (c) Ineffective (d) Fertile 
 (e) None of them 
 

 Direction (11-20) : In the following passage there are 
blanks each of which has been numbered. These 
numbers are printed below the pas-sage and against 
each, five words/phrases are suggested, one of which 
fits the blank appropriately. Find out the appropriate 
word in each case.  

 

  Most companies listed on American stock 
exchanges are conventional, familiar businesses like 
Apple or Exxon Mobil, but the stock market also _1_ 
many obscure, even mysterious, specialized sectors 
that _2_ with much less public awareness. In recent 
months, one of those groups of specialty firms has 
been _3_ attention as controversy has increased over 

some of its tactics and results. Known as business 
development companies, or B.D.C.s, the firms were 
created by Congress in 1980 to _4_ investment in 
small businesses whose growth may _5_ jobs. They 
sell stock to the public and then use some of the _6_ 
to make loans to emerging businesses for a variety of 
needs. The category has grown tenfold over the last 
decade, to $64 billion in assets. That is partly because 
business development companies offer higher yields 
in exchange for the high-risk nature of their assets, 
and partly because they _7_ to a market that big 
banks have _8_ from since the financial crisis. In the 
last four months, several business development 
companies have become _9_ of activist or dissident 
investors who are dissatisfied over management and 
performance issues and are _10_ proxy contests or 
seeking sales. 

11. (a)  obtain (b)  contains 
 (c)  source (d)  sustain 
 (e)  persists 
12. (a)  continues (b)  subside 
 (c)  resided (d)  generate 
 (e)  operate 
13. (a)  drawing (b)  creating 
 (c)  suspecting (d)  attracting 
 (e)  generating 
14. (a)  discourage (b)  volunteer 
 (c)  encourage (d)  provoke 
 (e)  maintain 
15. (a)  sustain (b)  generate 
 (c)  decline (d)  budding  
 (e)  provisioning 
16. (a)  value (b)  insights 
 (c)  pickings (d)  proceeds 
 (e)  stocks 
17. (a)  cater (b)  deter 
 (c)  offered (d)  surrender 
 (e)  submit 
18. (a)  famished (b) provided 
 (c)  supported (d) demanded 
 (e)  retreated 
19. (a)  system (b) targets 
 (c)  motive (d) belief 
 (e) pattern 
20. (a) moving (b) sounding 
 (c) waging (d) sentencing 
 (e) hoping 
 

 Direction (21-25) : Which of the following phrases A, 
B, C, and D given below each sentence should replace 
the phrase printed in bold type to make the sentence 
either correct or phrased in different words? 
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21.  No caring for the family, Dhanraj wanted to gather 
roses only. 

  (a)  wanted to paint a rosy picture of the past 
  (b)  make safe investment 
  (c)  wanted to start the business of roses 
  (d)  wanted to seek all enjoyments of life 
   (e)  None of these 
22.  After the successful performance of the great actor 

was over, there was thunder struck applause. 
  (a)  fearful (b)  cheerful 
  (c)  decisive (d)  thunderous 
  (e) No correction required 
23.  We might not be able to change the situation quickly, 

but we should continue our efforts in that direction. 
  (a)  could not be (b)  had not been 
 (c)  would not (d)  did not 
 (e)  No correction required 
24.  The monograph, which was published three years 

ago, would suggest that by 2001 there will be 73 
million TV sets in India. 

 (a)  has been suggesting (b)  would have suggested 
  (c)  will suggest (d)  had suggested 
   (e) No correction required 
25. Some of the African have been enmeshed in an 

inescapable debt trap. 
  (a)  entangled (b)  hit 
  (c)  struck (d)  ensured 
   (e)  None of these 
 

 Directions (26-30) : Read each sentence to find out 
whether there is any grammatical error in it. The 
error, if any, will be in one part of the sentence. The 
number of that part is the answer. If there is no error, 
the answer is ‘5’. (Ignore errors of punctuation, if any.)  

 

26.  For effective delegation A)/ the authority granted B)/ 
must be concerned C)/ with the assigned 
responsibility. D)/ No error E) 

27.  It must be noted that A)/ decentralization should be 
applied B)/ along with caution as it can C) / lead to 
organizational disintegration. D)/ No error E).  

28.  He hired two coolies A)/ because the luggage was B)/ 
too much heavy C)/ for one. D)/ No error. E) 

29.  Delegation is the transfer of A)/ authority through 
superior to subordinate B)/ at different levels C)/ in 
an organized sector. D) / No error. E) 

30.  A brave man A)/ and an intelligent officer B)/ was 
honored C)/ by the chairman. D)/ No error. E) 

 
 Direction (31-35) : Each question below has two 

blanks, each blank indicating that something has been 
omitted. Choose the set of words for each blank that 
best fits the meaning of the sentence as a whole. 

31. The problems faced by a ____ scholar who wishes to 
use original source materials that are written in an 
____ foreign language. 

 (a)  renowned, easy 
 (b)  scientific, difficult 
 (c)  common, organised 
 (d)  language, undifferentiated 
 (e)  literary, unfamiliar 
32. The eventual ____ status of the Great Migration 

migrants has not been ____ traced. 
 (a)  economic, adequately (b)  loss, quietly 
 (c)  gain, since (d)  wealthy, sincerely 
 (e)  leverage, judged 
33. The cash value of children ____ during the nineteenth 

century because their expected ____ over the course of 
a lifetime increased greatly. 

 (a)  declined, earning (b)  rose, earnings 
 (c)  stood, wealth (d)  fell, economy 
 (e)  fallen, money 
34. Most college ____ choose majors that they believe will 

lead to the most highly ____ jobs available to them. 
 (a)  goer, paying (b)  kids, valuable 
 (c)  students, paid (d)  children, holiday 
 (e)  alumni, secure 
35. The women’s ____ has succeeded in legitimizing the 

economic and political ____ of women on their own 
behalf. 

 (a)  leap, activity  
 (b) movement, activism 
 (c)  participant, involvement 
 (d)  criteria, place 
 (e)  revolt, downturn 
 
 Directions (36-40) : Rearrange the following seven 

sentences (A), (B), (C), (D), (E), (F) and (G) in the 
proper sequence to form a meaningful paragraph and 
then answer the questions given below. 

 

 (A)  Who knew we were reading a book that was soon 
 to become iconic? 

 (B)  I first encountered Digvijay in an institute of Delhi 
 in 2001. 

 (C)  Just as we were getting to a crucial moment in the 
 life of Siddhant, 

 (D) I was a student, living on junk food, as one did 
 and suffereing from a stomach ailment, as one 
 did. 

 (E)  along came a boy to tell us that unnecessary 
 staying in institute was not permitted. 

 (F)  My pal Raghu and I had been barred from our 
 hostel during the day, 

 (G) So Raghu was soothing my prostrate self by 
 reading from the magzine, which was all the rage 
 among such as us. 
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36.  Which of the following will be the SEVENTH sentence 
after rearrangement? 

 (a)  A  (b)  C   
 (c)  D  (d)  E   
 (e)  G 
37.  Which of the following would be the THIRD sentence 

after rearrangement? 
 (a)  C  (b)  B   
 (c)  A  (d)  G   
 (e)  F 
38.  Which of the following would be the FOURTH 

sentence after rearrangement? 
 (a)  F  (b)  G   

 (c)  B  (d)  A   
 (e)  D 
39.  Which of the following would be the FIRST sentence 

after rearrangement? 
 (a)  E  (b)  D   
 (c)  A  (d)  C   
 (e)  B 
40.  Which of the following would be the SECOND 

sentence after rearrangement? 
 (a)  A  (b)  C   
 (c)  D  (d)  F   
 (e)  E 
 

 
QUANTITATIVE APTITUDE 

 

 Directions (41-45) : Study the following table to 
answer the questions that follow : 

 

 Number of Bikes sold (in thousand) by 5 showrooms 
during 5 months.  

 

Showroom 
Month 
     

P Q R S T 

January 154 180 156 215 237 
February 167 199 179 181 254 
March 191 219 211 163 263 
April 205 198 259 165 181 
May 215 231 230 178 250 

 

 

41.  What is the average number of bikes sold (in 
thousand) by showroom R in all the given months 
together? 

 (a)  207 (b)  211 
 (c)  213 (d)  205 
 (e)  215 
42. By what Percent the number of bikes sold by 

showroom Q increases from January to May? 
 (a)  24.33 % (b)  28.33 % 
 (c)  26.33 % (d)  32.66 % 
 (e)  30.66 % 
43.  The number of bikes sold by showroom T increased 

by 8% from May to June and 20% from June to July. 
How many bikes were sold (in thousand) by store T 
in July? 

 (a)  312 (b)  318 
 (c)   324 (d)  328 
 (e)  336 
44.  The total number of bikes sold by all given stores 

together in June was 7/9 of the total number of bikes 
sold by all the given stores together in April. How 
many bikes were sold (in thousand) by all the given 
stores together in June itself? 

 (a)  756 (b)  798 

 (c)  784 (d)  826 
 (e)  812 
45.  The number of bikes sold by showroom S in May is 

approximately what per cent more than the number 
of bikes sold by showroom P in January? 

 (a)  15.2% (b)  16.4% 
 (c)  15.9% (d)  16.6 % 
 (e)  15.6% 
 

       Direction (46-50) : What will come in place of the 
question mark (?) in the following number series? 

 

46.   14  ?  7  14  56  448 
 (a)  8 (b)  7 
 (c)  9 (d)  3 
 (e)  6 
47.   4  5  11   34   137   ? 
 (a)  685 (b)  687 
 (c)  686 (d)  786 
 (e)  695 
48.   133  150  116  ?  99  184 
 (a)  167 (b)  177 
 (c)  187 (d)  207 
 (e)  117 
49.   120  95  144  63  ?  15 
 (a)  164 (b)  194 
 (c)   204 (d)  184 
 (e)  214 
50.   8  18  57  ?  1165  6996 
 (a)  220 (b)  332 
 (c)   232 (d)  252 
 (e)  212 
 

 Direction (51-55) : Study the graph and answer the 
questions. 

 

 The Number of people who travelled from Mumbai to 
Delhi by Train P and Q on six different days. 
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51.  The number of people who travelled by Train Q on 

Sunday is 20% more than those who travelled by the 
same train on Saturday. What is the ratio of the 
number of people who travelled on Sunday to that of 
those who travelled on Monday by the same train? 

 (a)  4:5 (b)  3:4 
 (c)  5:6 (d)  3:5 
 (e)  1:4 
52.  What is the difference between the total number of 

people who travelled by Train Q on Wednesday and 
Thursday together and that of those who travelled by 
Train P on Monday and Tuesday together? 

 (a) 200 (b)  230 
 (c) 210 (d) 250 
 (e) 240 
53. What is the average number of people travelling by 

Train P on Wednesday, Thursday, Friday and 
Saturday ? 

 (a) 220 (b) 190 
 (c) 205 (d) 195 
 (e) 210 
54. The number of people who travelled by Train P 

decreased by what per cent from Monday to 
Thursday ? 

 (a) 35% (b) 40% 
 (c) 30% (d) 42% 
 (e) 33% 
55.  The total number of people who travelled by both the 

given trains together on Tuesday is approx what 
percent more than the total number of people who 
travelled by both the given trains together on Friday? 

 (a) 128% (b) 123% 
 (c) 142% (d) 118% 
 (e) 135% 
 

 Directions (Q. 56-60) : Two equations (I) and (II) are 
given in each question. On the basis of these equations 
you have to decide the relation between ‘x’ and ‘y’ and 
give answer. 

 

 (1) if x > y (2) if x < y (3) if x ≥ y(4) if x ≤ y (5) if x = y 
or no relation can be established between ‘x’ and ‘y’. 

56.    I. 2x2 - 11x + 15 = 0     II. 2y2 + 13y + 20 = 0 
57.  I. x2 + 11x + 30 = 0       II. y2 + 7y + 10 = 0 
58.   I. x2 + 3x = 28                II. y2 + 15y + 56 = 0 
59.   I. 6x2 - 29x + 35 = 0      II. 2y2 - 19y + 44 = 0 
60.   I. 3x2 – 4x – 32 = 0       II. y2 – 6y – 7 = 0 
61.  A bag containing 7 Red and 9 Black balls. Two balls 

are drawn randomly. What is the probability that one 
of them is red and the other is black? 

 (a) 21/40 (b) 22/43 
 (c) 18/40 (d) 19/40 
 (e) 25/48 
62.  CP of article A is 200 more than the CP of article B. If 

article A is sold at 10% Loss and article B is sold at 
20% profit and overall gain no profit/ no loss. Find 
the CP of article B? 

 (a) 400 (b) 200 
 (c) 300 (d) 250 
 (e) 350 
63.  There are 5 consecutive odd nos. Difference b/w the 

square of average of first two and square of average 
of last two is 492. Find the smallest odd no.? 

 (a) 39 (b) 35 
 (c) 37 (d) 41 
 (e) 43 
64.  Gaurav started a business, investing as amount of 

70000rs. After six months, Rahul joined him with an 
amount of 75000rs. At the end of one year, they 
earned a profit of 86000rs. What is Rahul’s share in 
the profit? 

 (a) 32500 (b) 25500 
 (c) 37200 (d)30000 
 (e) 32000   
65.  The sum of the ages of a father and his son is 50 

years. 10 years ago, the age of father was 9 times the 
age of the son. Find the present age of the father? 

 (a) 32 years (b) 37 years 
 (c) 43 years (d) 35 years 
 (e) 39 years 
66.  A jar contains 64 liters of mixtures of milk and water 

in the ratio of 14:2. 32 liters of mixture is taken out of 
the jar and 2 litres of water is added to the jar. What 
is the percentage of water in the resultant mixture? 

 (a) 18 1/17 (b) 17 11/17 
 (c) 19 11/17 (d) 21 21/17 
 (e) 24 32/19 
67.  A boat covers 10 km upstream and 16 km 

downstream in 6 hours, while it covers 16km 
upstream and 10km downstream in 7 hours. Find the 
speed of the current. 

 (a) 2.5kmph (b) 3.5kmph 
 (c) 1.5kmph (d) 4.5kmph 
 (e) 5.5kmph 
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68.  P, Q and R can do a job in 6 days, 12 days and 15 days 
respectively. After 1/8 of the work is completed, R 
quits the job. The rest of the work is done by P and Q 
together. The time taken to finish the work is? 

 (a) 5 5/6 days (b) 8 days 
 (c) 5 1/3 days (d) 3 ¾ days 
 (e) 3 ½ days 
69. A sum was put at a certain rate of interest for five 

years. Had it been put at a rate of interest 10% higher 
than the previous rate of interest , it would have 
fetched 145 rs more. What is the sum? 

 (a) 290 (b) 390 
 (c) 270 (d) 250 
 (e) 280 
70. The length of rectangle is 4m more than the side of a 

square and breadth of the rectangle is 4m less than 
the side of the same square. If the area of the square 
is 576 sq m, what is the area of the rectangle? 

 (a) 760 (b) 560 
 (c) 660 (d) 580  
 (e) 650 
 

 
REASONING 

 

 Directions (71-75) : Study the following information 
and answer the questions. 

 

  Seven friends, namely Ram, Arpit, Manish, 
Mahesh, Lucky, Raju and Vijay like different Color, 
Red, Green, Blue, Black, Yellow, White and Brown, but 
not necessarily in the same order. Each friend also 
has a presentation on topics of different subjects, 
namely Civics, History, English, Geography, 
Chemistry, Physics and Biology but not necessarily in 
the same order. Raju has a presentation on Civics and 
likes neither Blue nor Black. The one who likes Red 
has a presentation on History. Ram likes Green and 
has a presentation neither on Geography nor on 
Chemistry. The one who likes Brown has a 
presentation on Biology. Arpit has a presentation on 
Physics and does not like Black. The one who likes 
Black does not have a presentation on Chemistry. 
Mahesh likes Yellow. Vijay does not have a 
presentation on History and does not like Black. 
Lucky does not like Black. 

71.  On which of the following subjects does Ram have a 
presentation? 

 (a)  Chemistry 
 (b)  English 
 (c)  Biology 
 (d) Other than those given as options 
 (e)  Geography  
72.  Four of the following five form a group as per the 

given arrangement. Which of the following does not 
belong to that group? 

 (a)  Vijay – Brown (b)  Raju – White 
 (c)  Manish –Black (d)  Arpit – Blue 
 (e)  Lucky – Green 
73.  Which of the following combinations is definitely 

correct?  
 (a)  Manish – chemistry  
 (b)  Vijay – History 
 (c)  Ram – English 
 (d)  All the given combinations are definitely correct 

 (e)  Lucky – Geography 
74.  Which of the following combinations of color and 

subject is definitely correct with respect to Manish? 
 (a) Black – Chemistry 
 (b)  Other than those given as options. 
 (c)  White – Geography 
 (d) Black – Geography 
 (e) Red – History 
75.  Four of the following five form a group as per the 

given arrangement. Which of the following does not 
belong to that group Me? 

 (a)  Biology – Brown (b)  Chemistry - Yellow 
 (c)  Civics – White (d)  English – Blue 
 (e)  Geography –Black 
 

 Directions (76-80) : Study the following information 
and answer the questions. 

 

  P, Q, R, S, T, U, V and W are sitting around a 
circular table but not necessarily in the same order. 
Some of the persons are facing the centre while some 
are not facing the centre. Q sits third to the right of S 
and both are facing opposite directions. The 
immediate neighbors of T face the same direction. 
There is only one person between S and W. The 
immediate neighbors of S face opposite directions. R 
is not an immediate neighbors of either W or S. U sits 
second to the right of T, who faces outward. W sits 
opposite U and both face opposite direction. P sits 
second to the right of V. The immediate neighbours of  
W face the same direction as R. P and W face the same 
direction as R. 

76.   Who among the following faces the centre? 
 (a)  V  (b)  R 
 (c)  U (d)  T 
 (e)  None of these 
77.   Who among the following are immediate neighbours 

of T? 
 (a)  R, Q (b)  Q, W 
 (c)  U, R (d)  S, V 
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 (e)  None of these 
78.  Who among the following is on the immediate right of 

S? 
 (a)  T (b)  Q 
 (c)  P (d)   V 
 (e)  None of these 
79.  How many persons are there between S and T? 
 (a)  One  (b)  Two 
 (c)  Three (d)  None 
 (e)  None of these 
80.  What is the Position of R with respect to P ? 
 (a) Second to the right (b) Fourth to the left 
 (c) Fourth to the right (d) Either 2 or 3 
 (e) None of these  
  
 Directions (81-85) : Study the following information 

and answer the questions. 
  

  Ten people are sitting in two parallel rows 
containing five people each in such a way that there is 
equal distance between adjacent persons. In row 1, A, 
B, C, D and E are seated (but not necessarily in the 
same order) and all of them are facing north. In row 
2, J, K, L, M and N are seated (But not necessarily in 
the same order) and all of them are facing south. 
Therefore, in the given seating arrangement each 
member seated in a row faces another member of the 
row. 

  N sits at one of the extreme ends of the line. Only 
two people sit between N and J. The one who faces J 
sits on the immediate left of C. Only one person sits 
between C and B. The one who faces B sits on the 
immediate left of K. E sits second to the right of A. 
Neither B or C, faces M. 

81.  Who among the following is facing D? 
 (a)  M (b)  J 
 (c)  L (d)  N 
 (e)  K 
82. Four of the following five are alike in a certain way 

based on the given arrangement and hence from a 
group. Who among the following does not belong to 
that group? 

 (a) EB (b) AC 
 (c) DC (d) JM 
 (e) KL 
83.  What is the position of M with respect to K? 
 (a)  Third to the right (b)  Immediate left 
 (c) Second to the left (d) Second to the right 
 (e)  Immediate right 
84.  Which of the following statements is TRUE regarding 

E? 
 (a)  Only two persons sit between E and D 
 (b)  E sits at an extreme end of the row-1 
 (c)  E faces one of the immediate neighbours of J 

 (d)  None of the given 
 (e)  C sits on the immediate right of E. 
85.  Who among the following is facing L? 
 (a) E (b) D 
 (c) B (d) A 
 (e) C   
 

 Directions (86-87) : Study the following information 
and answer the questions. 

 

  P is 10m to the north of Q, who is 12m to the 
north of T. S is 15m to the east of P and R is to the 
southeast of Q and is in the line with T at a distance of 
15m. 

86.  S is in which direction with respect to R and what is 
the distance between them? 

 (a)  15m, East (b)  22m, North 
 (c)  20m, South (d) 25m, West 
 (e)  None of these 
87. P is in which direction with respect to R? 
 (a)  Northwest (b)  South 
 (c)  North (d)  Southeast 
 (e)  None of these 
 

 Directions (88-90) : Study the following information 
and answer the questions. 

 

   Seven Friends A, B, C, D, E, F and G live on 
different floors in a building but not necessarily in the 
same order. The ground floor is numbered 1 and the 
floor just above it is no. 2 and so on and the topmost 
floor is number 7. 

  There are two persons between A and G. B lives 
on the fifth floor and A lives on an odd-numbered 
floor but not below G. There is only one person 
between C and F. D does not live on a floor above C. 

88.  How many persons live on the floor above E? 
 (a)  One  (b)  Two 
 (c) Three (d)  Four 
 (e)  None of these 
89.  How many persons live between G and F? 
 (a)  None (b)  One 
 (c)  Two (d)  Three 
 (e)  Four 
90.  Who among the following lives on floor no.1? 
 (a)  C (b)  F 
 (c)  D (d)  E 
 (e)  None of these  
 

 Directions (91-93) : Study the following information 
and answer the questions. 

 

  A, B, C, D, E and F are six friends. Each of them has 
a different weight, E’s weight is more than A’s but less 
than D’s. Only one person is heavier than C. The one 
whose weight is second lowest is 47 kg and C’s 
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weight is 59 kg. D is not the heaviest. F is not heavier 
than A 

91.  Whose weight is the second highest?  
 (a)  D (b)  B 
 (c)  C (d)  Can’t be determined  
 (e)  None of these  
92.  If C is 8 kg heavier than E, what is the possible weight 

of D? 
 (a)  47 kg (b)  44 kg 
  (c)  55 kg (d)  60 kg 
  (e)  None of these  
93. Which of the following statements is true?  
 (a)  B’s weight is 56 kg. (b)  A is heavier than E.  
  (c)  B is the heaviest. (d)  D is the heaviest. 
  (e)  None of these 
 

 Directions (94-95) : Study the following information 
and answer the questions. 

 

  M is father of N. M is married to O. O is mother of 
P.  O has only one daughter. P is married to Q. Q is son 
of R. 

94.  How is P related to R? 
 (a) Daughter 
 (b) Granddaughter 
 (c)  Cannot be determined 
 (d)  niece 
 (e)  Daughter-in-law 
95. How is N related to Q? 
 (a) Cannot be determined (b) Brother-in-law 
 (c) Brother (d) Sister 
 (e) Sister-in-law 
 
 Directions (96-100) : Study the following 

information and answer the questions. 
 

  In each of the questions below are given two or 
three statements followed by two conclusions 
numbered I and II. You have to take the given 
statements to be true even if they seem to be at 
variance with commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given 

statements, disregarding commonly known facts. 
Give answer. 

 1) if only conclusion I follows. 
  2) if only conclusion II follows. 
 3) if either conclusion I or conclusion II follows.  
 4) if neither conclusion I nor conclusion II follows. 
  5) if both conclusions I and II follow. 
96. Statements:  
 Some problems are solutions 
 All solutions are tricks 
 Some tricks are rules. 
 Conclusions:  
 I. All rules being solutions is a possibility. 
 II. At least some rules are problems 
97. Statements:  
 Some problems are solutions 
 All solutions are tricks 
 Some tricks are rules. 
        Conclusions:  
 I. Some tricks are problems. 
 II. All tricks are problems 
98. Statements: 
 Some task are hurdles. 
 No hurdle is a job 
 All works are jobs. 
 Conclusions:  
 I.  No work is a hurdle. 
 II. Some tasks are definitely not jobs. 
99. Statements: 
 All queues are lines 
 Some lines are rows 
 Some rows are crowd 
 Conclusions:  
 I. No crowd is a queue 
 II. All rows being queues is a possibility 
100. Statements: 
 No minister is a dean 
 Some ministers are Heads 
 Conclusions:  
 I.  No head is a dean. 
 II. Some heads are ministers.  
  

 
 

COMPUTER 
 

101. A keyboard is this kind of device___. 
 (a) black (b) input 
 (c) output (d) word Process 
 (e) None of these 
102. Who is known as father of Artificial Intelligence? 
 (a) John McCarthy (b) Vint Cerf 
 (c) Dennis Ritchie (d) James Gosling 
 (e) None of these 
103. Which of the following is not a storage device? 

 (a) Monitor (b) CD 
 (c) Hard disk (d) Floppy Disk 
 (e) DVD 
104. The CPU comprises of Control, Memory and _____ 

units. 
 (a) Microprocessor  (b) Arithmetic/Logic  
 (c) Output  (d) ROM  
 (e) None of these  
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105. _____ is the most important/powerful computer in a 
typical network.  

 (a) Desktop  (b) Network client  
 (c) Network server  (d) Bank 
 (e) None of these  
106. A(n) ______ appearing on a web page opens another 

document when clicked . 
 (a) anchor  (b) URL  
 (c) hyperlink  (d) reference 
 (e) None of these  
107. Junk e-mail is also called _______. 
 (a) spoof (b) spam 
 (c) spill (d) sniffer script 
 (e) None of these 
108. To save an existing file with new name at a new 

location we should us ____ command. 
 (a) Save (b) Save and replace 
 (c) Save as (d)  New file 
 (e) None of these 
109. In processing cheques, which of the following PO 

techniques have Indian banks traditionally followed? 
 (a) VRT  (b) OMR 
 (c) OCR  (d) Barcode 
 (e) MICR  
110. _______is collection of web pages and _____ is the very 

first page that we see on opening of a website. 
 (a) Home page, Web-page 
 (b) Web-site, Home-page 
 (c) Login page, Home-page 
 (d) Web-page, Web-site 
 (e) None of these 
111. DFD stands for_______. 
 (a) Data Flow Document 
 (b) Data File Diagram 
 (c) Data Flow Diagram 
 (d) Data Flow Drawing  
 (e) None of these  
112. In word processing, an efficient way to move the 3rd 

paragraph to place it after the 5th paragraph 
is________. 

 (a) copy and paste (b) copy and cut  
 (c) cut, copy and paste (d) cut and paste 
 (e) None of these 
113. Which of the following companies developed MS 

office? 
 (a) Microsoft (b) Novell 
 (c) Corel (d) Lotus 
 (e) None of these 
114. A device operating at the physical layer is called a 

______. 
 (a) Bridge (b) Router 
 (c) Repeater (d) All of the above 
 (e) None of these 

115. Which of the following is not a network? 
 (a) Local area network (b) Wide area network 
 (c) Optical fiber (d) All are networks 
 (e) None of these 
116. In case of MS-access, the rows of table correspond to 

_____. 
 (a) Field  (b) Records 
 (c) Reports (d) Files 
 (e) None of these 
117. Holding the mouse button down while moving an 

object or text is known as____. 
 (a) Moving (b) Dragging 
 (c) Dropping (d) Highlighting 
 (e) None of these 
118. What is the Short cut key for line break? 
 (a) CTRL + Enter (b) Alt + Enter 
 (c) Shift + Enter (d) Space + Enter 
 (e)  None of these 
119. A light sensitive device that converts drawing, 

printed text or other image into digital form is______. 
 (a) Keyboard (b) Plotter 
 (c) Scanner (d) OMR 
 (e) None of these 
120. Landscape is a ______. 
 (a) A font style (b) Paper Size 
 (c) Page Layout (d) Page Orientation 
 (e) None of these 
121. ________ is not a web browser. 
 (a) Netscape (b) Mozilla 
 (c) Internet Explorer (d) Chrome 
 (e) Telnet 
122. A _______is a major database object used to display 

information in a printable page format. 
 (a) form (b) query 
 (c) report (d) table 
 (e) None of these 
123. IDE stands for _______. 
 (a) Integrate Disk Error 
 (b) Input Data Error 
 (c) Integrated Development Environment 
 (d) Integrated Disk Environment 
 (e) None of these 
124. Which of the following command is used to rename 

the file or folder? 
 (a) F3 (b) F4 
 (c) F2 (d) F7 
 (e) None of these 
125. The_____ enables your computer to connect to other 

computers. 
 (a) video card 
 (b) sound card 
 (c) network interface card 
 (d) controller card 
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 (e) None of these 
126. What menu is selected to save or save as _____. 
 (a) Tools (b) File  
 (c) Format (d) Edit 
 (e) None of these 
127. A(n) _____ is text that you want printed at the bottom 

of the page? 
 (a) header (b) endnote 
 (c) footnote (d) footer 
 (e) None of these 
128. Which of the following is not an operating system? 
 (a) DOS                           (b) MS-Access 
 (c) Linux                          (d) Windows 

 (e) None of these 
129. To move to the beginning of a line of text, 

press_____key. 
 (a) Home                           (b) Ctrl 
 (c) Space                          (d) Enter 
 (e) None of these 
130. Microsoft Office Word creates a ________for you when 

you press ENTER or the SPACEBAR after you type the 
address of an existing Web page, 

 (a) word (b) hyperlink 
 (c) Bookmark (d) Document 
 (e) None of these  
 

 
G.K. & Current Affairs  

 

131. Who of the following has been appointed as the new 
CEO of Wipro Limited?  

 (a) TK Kurien  
 (b) Manik K Mathur  
 (c) Abid Ali Neemuchwala  
 (d) Nand Kumar Chauhan  
 (e) None of these 
132. On which date, Pravasi Bharatiya Divas (PBD) is 

celebrated in India?  
 (a) January 4  (b) January 6  
 (c) January 9  (d) January 11  
 (e) None of these 
133. Gir National park situated on which state?  
 (a) Punjab  (b) Kerala 
 (c) Madhya Pradesh  (d) Gujarat  
 (e) None of these 
134. Who of the following is the author of the book titled 

‘Jinnah Often Came to our House’?  
 (a) Jaswant Singh  (b) Kiran Doshi  
 (c) Nisid Hajari  (d) Jairam Ramesh  
 (e) None of these 
135. Who among the following has been appointed as the 

first Chairman of the Bandhan Bank? 
 (a) Arundhati Bhattacharya 
 (b) K R Kamath 
 (c) Arun Tiwari 
 (d) Ashok K. Lahiri 
 (e) None of these 
136. Who among the following was the founder of all India 

National Congress ? 
 (a) A. O. Hume (b) Jawaharlal Nehru 
 (c) M. K. Gandhi (d) Balgangadhar Tilak 
 (e) None of these 
137. Who was the last Governor General of India? 
 (a) Mountbatten (b) Linlithgow 
 (c) Willingdon (d) C. Rajagopalachari 
 (e) None of these 

138. Which of the following states has launched 
Mukhyamantri Jal Swavalamban Abhiyan scheme? 

 (a) Madhya Pradesh  (b) Rajasthan  
 (c) Chattisgarh  (d) Odisha  
 (e) None of these 
139. The Central Institute of Buddhist Studies (CIBS) is 

located in which city?   
 (a) Leh  (b) Shimla  
 (c) Dharamsala  (d) Sri Nagar  
 (e) None of these 
140. Who of the following has won the 2015 Costa Novel 

Prize?  
 (a) Frances Hardinge  (b) Kate Atkinson  
 (c) Andrea Wulf  (d) Helen Macdonald  
 (e) None of these 
141. Which of the following countries is the world’s largest 

rice exporter in 2015?  
 (a) Vietnam  (b) Indonesia  
 (c) India  (d) Thailand  
 (e) None of these 
142. Who has won the 2016 Allan Border Medal?  
 (a) Aaron Finch  (b) David Warner  
 (c) Glenn Maxwell  (d) Mitchell Starc  
 (e) None of these 
143. Who has been appointed as the head of the United 

Nations Disengagement Observer Force (UNDOF)?  
 (a) Rajinder Singh  (b) G D Bakshi  
 (c) Purna Chandra Thapa (d) Jai Shanker Menon  
 (e) None of these 
144. Who is the chairman of the recently created Tax 

Policy Council (TPC) in India?  
 (a) Union Finance Minister  
 (b) Secretary of Department of Financial Services  
 (c) Secretary of Department of Economic Affairs  
 (d) Chairman of Central Board of Direct Taxes 

 (CBDT) 
 (e) None of these 
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145. Who has been chosen for Bhimsen Joshi Classical 
Music Award for 2015-2016?  

 (a) Pandit Jasraj (b) Prabha Atre  
 (c) Pandit Ram Narayan  (d) Kishori Amonkar  
 (e) None of these 
146. What is the currency of Argentina?  
 (a) Peso  (b) Krone  
 (c) Dollar (d) Euro 
 (e) Rupees 
147. Who is the author of the book titled “Nathuram Godse 

– The Story of an Assassin”?  
 (a) Damodar Naik  
 (b) Deepankar Kukrehjha 
 (c) Anup Ashok Sardesai  
 (d) Vijai Sardesai  
 (e) None of these 
148. Which of the following airports is the first one in 

India to develop a color-coded map?  
 (a) Indira Gandhi International Airport  
 (b) Jaipur International Airport  
 (c) Chhatrapati Shivaji International Airport  
 (d) Kempegowda International Airport  
 (e) None of these 
149. Sushil Koirala, who died recently, belongs to which 

country?  
 (a) Bhutan  (b) Sri Lanka  
 (c) Bangladesh  (d) Nepal  
 (e) None of these 
150. Who has been appointed as the President of the 

South Asian Wrestling Federation (SAWF)?  
 (a) Tabiur Rehman  
 (b) Brij Bhushan Singh  
 (c) Rajmohammed Ansari  
 (d) Rajesh Singh  
 (e) None of these 
151. What is period of appointment of the comptroller and 

Auditor –General of India? 
 (a) 6 years 
 (b) Upto 65 years of age 
 (c) 6 years or 65 years of age whichever is earlier 
 (d) Upto 64 years of age 
 (e) None of these 
152. Who is the current Governor of Maharashtra? 
 (a) Kateekal Sankarnarayanan 
 (b) S.M. Krishna 

 (c) Chennamaneni Vidyasagar Rao 
 (d) S.C. Jamir 
 (e) None of these 
153. Which state has the largest Legislative Assembly in 

terms of capacity? 
 (a) Bihar (b) Madhya Pradesh 
 (c) Maharashtra (d) Uttar Pradesh 
 (e) None of these 
154. Who has been appointed as the new chairman of 

Competition Commission of India (CCI)?  
 (a) DK Sikri  (b) Amitabh Kant  
 (c) Ashok Chawla  (d) Dhanendra Kumar  
 (e) None of these 
155. Who has been conferred with the 2016 Global and 

Asia-Pacific Central Bank Governor of the Year?  
 (a) Janet Yellen  (b) Mark Carney  
 (c) Raghuram Rajan  (d) Haruhiko Kuroda  
 (e) None of these 
156. Jallikattu, a version of bull fighting is popular in 

which of the following states?  
 (a) Karnataka  (b) Telangana  
 (c) Tamil Nadu  (d) Andhra Pradesh  
 (e) None of these 
157. What is Capital of Yemen?  
 (a) Dushanbe  (b) Sana 
 (c) Riyadh   (d) Tehran  
 (e) Freetown 
158. Bathukamma Festival celebrated on which Indian 

state? 
 (a) Odisha (b) Telangana 
 (c) Karnataka (d) Punjab 
 (e) None of these 
159. Which of the following organizations publishes the 

report titled “Global Economic Perspectives”?  
 (a) OECD  (b) WTO  
 (c) IMF  (d) World Bank  
 (e) None of these 
160. Who is the first Indian to win a People’s Choice 

Awards?   
 (a) Irrfan Khan  (b) Anupam Kher  
 (c) Priyanka Chopra  (d) Amitabh Bachchan  
 (e) None of these  
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